
 

 

English-Blog Worksheet-Year-3 

Q1) Unseen Comprehension passage: 

 

Q2) Answer these questions: 

a. What did the god do to make the kangaroo different? 

 

b. Why was the kangaroo not happy? 

 

 

 

 

 

 



 

 

ANSWER KEY 

 

Q1) Unseen Comprehension passage: 

Ans 1) broad, deeply indented, glossy. 

 

Ans 2) It is round in shape, about 6 inches in diameter and has a rough rind. 

 

Ans 3) It forms the principal food. 

 

Ans 4) It hangs in clusters of twos or threes on the branches. 

 

Ans 5) Yellow fruit was the ripe fruit. 

 

Ans 6) The tree bears 2 or 3 crops of fruit in a year. 

 

Ans 7) Twenty feet high. 

 

Ans 8) The bark of the young branches is used for making cloth. 

 

Q2) Answer these questions: 

a) The god commanded the dog dingo to chase kangaroo. 

 

b) The kangaroo was not happy because the chasing of the dog made him tired and thirsty. 

 

 

 

 

 


